EXICIE SN & ER23%E3H6H

aVINOURBF BHTRATE

B K4 FiiE 18m 18m = 10 9
1[/MIEER BIRT 283 285 568 29 30
2|1MMRER =EHT 277 280 557 21 35
JEREFE Fhemh 277 280 557 18 41
A FORE L adit] 277 276 553 16 40
5| B FIES BIRT 278 274 552 14 42

Jh—TBF

6L |4 FiiE 18m 18m = 10 9
1| ZFEER SREREESR 263 260 523 16 16
2| 5L R %5 A3 XEh 246 235 481 7 22

Yh—T&F

B K% Bl 18m 18m ait 10 9
N ERS2EN ZREGEEEHR 235 232 467 8 12

aAVINOURBFA—T

B K% Bl 18m 18m ait 10 9
1|&)IME— EER 283 286 569 29 31
21k R KEE ABR AT 280 283 563 24 46
3|;5/K1F A N 275 284 559 20 39
A|FEMREA ABR AT 277 271 548 22 34
5|t LR A KR AT 273 271 544 14 37
6|/ A ABR AT 266 260 526 6 44

YHh—DBFA—T>

6L |4 Bl 18m 18m = 10 9
S mEPRE 276 271 547 27 22
2| ElL R EEXige]=] 270 276 546 21 27
3| HiEERE RERAT 281 252 533 17 25
4| A EH =5 274 259 533 16 25
S5|EfExE— KB A 245 261 506 9 26
6| R FT E B KRB AF 227 219 446 9 18

aAVINOUREFA—TY

B K% Bl 18m 18m ait 10 9
1[{REEX T KRB AF 285 279 564 27 31
2| RIEF ABR AT 279 281 560 21 38
EHEIFF KRB AF 278 281 559 20 39
4% & ABR AT 279 276 555 15 45
5|E+)IEF RERAT 276 271 547 14 43
6|/NE{ETHF ABR AT 269 277 546 12 42

YHh—DZFA—T>

B K4 Bl 18m 18m = 10 9
1|/NFEBF =58 251 235 486 8 15




